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1L.() B223 758 C 4D ht 2 C=4m>D=25m- $(a) C+D ; (b)

C-D-

2.9m
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F 2.23
C = —45in 60°i + 4 cos 60°j = —3.46i + 2
D=-2.5j
() C+D=-3.46i—0.5j m
(b) C—D =-3.46i+4.5j m

2.(D) B224 7% %2 A=15m B=2m>C=1m- £ : (@ A+B+
C;(b)A-B-C-

Im

W 2.24
A =1.5c0820°%+1.5s5in20°j=1.41i+0.51j
B =2c0s20°% —2sin20°j =1.88i —0.68j
C =—-c0s60° —sin 60°j =—0.51 — 0.87j
(a) A+B+C=2.79i—1.05j m
(b) A-B-C=0.03i+2.06j m
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Ry:Ay+By:4cos37°—3sin30°=+1.69m R, !
B4} 5 R=\|RI+R =527m
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H2 % d tanf A% : tanG:R—y:—:—0.338
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(a) A =-2c0s60° — 2sin60°j = —i —1.73j m,
B = 2s5in50°i + c0s50°j = 1.53i + 1.29j m,
C = —-2c0s30°i + 2sin30°j = —-1.73i + j m,
D = 2co0s35°i — 2sin35°j = 1.64i — 1.15j m;
(b)) R=A+B+C+D=0.44i — 0.59j m;

(¢) R=4/(0.44)+(~0.59)> =0.74 m



tan @ = —0.59 S O=tan"’ 0591 _ —53.3°
0.44 0.44

e 074m> L Be 53.3%%

5(I) %3 %% »C=4i+j-3km>D=2i-3j+5km- £:(@)S=C-D; (b)

S;() S -

(a) S=(4i+j-3k)—(2i—-3j+5k)=2i+4j-8k m

(b) S=+/2>+4%+(-8)> =/84=9.17 m

(c) S= % =0.218i+0.436j—0.873k

6.(I) @& A feB % [ &5 6m frdme &T7]&wf A ] fFRT >
Fargmdt i@ X EwE D ) EvE ()3m;(d8m=e (K A
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(a) 0

(b) 180°

(c) (6+4cosh)’ +(4sind)’ =9 = cosf=-0.896 = 0=153°

(d) (6+4cosf)’ +(4sinbh)’ =64 = cosd=0.25 = 6=755°

7. %% 8 A=2i-3j+6km * B=i+2j-3km- % : (@) A+B; (b)|A+B|;
(c) 2A—3B -

(@) LR THE L e R Lo d S ENQS)T
A=+2"+3"+6>=7.00m

B=A1’+2*+3*=374m

Fp A+B=10.7 m-
(b) 2 fri  A+B=2+Di+(-3+2)j+(6-3)k=3i—j+3k m>

fren | 5 |A+B|=v3"+1"+3’ =436 m >

?%F'_,‘/’J{i"" ’ frg‘f’]—'\ ,J‘ i ! ::f_%"—'\ ,J‘ E‘f”jff’ o

(c) 2A-3B=i-12j+21k m
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(a) A =6 cos60° + 6 sin60°j = 3i + 5.2 m,
B =6 c0s30° — 6 sin30°j = 5.21i — 3j m,
B-A=22i-82jm
(b) A =6 cos30°i + 6sin30°j = 5.2i + 3j m,
B =—-6cosl5° + 6sinl5°j =-5.8i + 1.55j m,
B-A=-11.0i — 1.45j m

9.(I) - 2 2 #d faisix + 2 100m > Fird #Hha 25° 3w kT EHF200m- H
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—200 c0s25°i — 200 sin25°j + 100k = —181i — 84.5j + 100k m

10.(I) # & A=i-2j # B=2i+3j 2Fén% & sm?
A-B=({-2j) - Qi+3j)=2-6=-4
cos 0 =A - B/AB=(-4)/(5x 13)!? . 0=120°

. A% 8= 33m 2 5m> EBHL 4m>e o FF2 447

K]

—4=3x5x%xcos@ 5.0=105°

12.(1) ¢ 4va %8 A=i+2j-4k 2 B=3i—-j+5k> £ A x B
A xB=(i+2j-4Kk) x (3i - j + 5Kk)
= (-k — 5j) + (—6k + 10i) + (=12 — 4i)
=6i - 17j - 7k



